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0| & (differentiation)

f(x + dx) — f(x)
dx

SoHH)

Ol 25 2o X[FHoA A, 0l 7t

X2 (differences)

f(x + Ax) — f(x)
Ax

f(x) — f(x — Ax)
Ax

2Ax

f(x + Ax) — f(x — Ax)

numerical differentiation

o
°

clc;clear;close all

O:pi/l6:pi;

X=

@(x)sin(x);

dyf

L/diff (x);

diff (y(x))

title('Foward diffence')

grid on,

dyf),

plot(x(l:end-1),

figure

title('Backward diffence')

grid on,

dyf),

plot(x(2:end),

figure

(x(l:end-1)+x(2:end)) /2;

xXm=

title('Central diffence')

dyf), grid on,

plot (xm,

figure

grid on

plot(x(l:end-1),dyf,x(2:end),dyf,xm,dyf, 'b',x,cos(x),'or'),



,legend('Foward', 'Backward', 'Central', '"True')
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O:pi/32:pi;

Z=0|Ct, M2t FH HEEH
x2

sum (trapz (x2,y(x2)))

b

sum(trapz (x,y(x)))
quad(y,0,pi)

o
o
[

Finitive Integration

1.9936

Itrap2
1.9984

Isimp
2.0000

O:pi/l6:pi;

0l)
Itrue=-cos (pi) +cos (0)

(E
clc;clear
Itrap
Itrap2
Isimp

°

y=@ (x)sin(x);

X
Itrap



Itrue

go
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quad() &=+ Simpson 1/3

12 X7t ALt

HFA
o

el & it 2oLt AttE|E

olJ
gl

-

10

<M
f
<0

[y,

70

(2) Simpson

2 O ol 7HECt

=

HEH AMCHE|E 20t

o
o

£ oftgaol BEE 7

3”2 X[Lt

f(x)

bb

aa

<

2l &1 quad) &

Uy
ol

i

JoO

fol

0o

ofn
Eill

_

70

4
i

—_

Jod
<d

g = quad(fun,a,b)

g = quad(fun,a,b,tol)

g = quad(fun,a,b,toltrace)

[q.fcnt] = quad(..)

Ch2A 278

=
=

10 0| O]

=
—

aOlM b #ZHA| YHEOICHEHY S Fotth). 7228 &8N

gt 4= UChtol ). fent =



(&hD, ZHEr

[ | P2 S W .

k =]3

AL
T =

ok
mujn

1)

Act2lE B4
function It=trap(f,a,b,n)
h=(b-a) /n;

x=a:h:b;

aa=a:h:b-h; bb=a+h:h:b;
It=sum(f (aa)+£f (bb))*h/2;

end

Simpson &4

function Is=simp(f,a,b,n)

h=(b-a) /n;

aa=a:h:b-h; bb=ath:h:b; cc=a+h/2:h:b-h/2;
Is=sum(f (aa)+4*f (cc)+f(bb))*h/6;

end

f(—y,t,y> =0, O=LIEILIDO|Z

Dogty),  HEZHTO SN EoR EOH(UB4E THL).

A dojed8H2 FELBH2E F0{0f oLt 22 X|LIA[7|2 SHCf

dz
(1) a = g(Z, t, Y)

dy
y)
@) =2
HO2HEA E0| Hoz HY 7|X, 7|20| &= 2@t B0| AL8E|l= Runge-Kutta 44t
LS HEiED XLIH7|2 St @YU B2 @S TS0 MED Runge-Kutta B2 Z7



(1) Euler(2 Y2}
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function [t,y]l=eulode (dydt, tspan, y0, h)
ti=tspan(l); tf=tspan(2);
t=[ti:h:tf]'; n=length(t); y=yO*ones(n,1l);
for k=1l:n-1
y (k+1)=y (k) +h*dydt (t (k) ,y (k));
end
if t(end)~=tf
t=[t; tf]; y(n+l)=y(n)+(tf-t(n))*dydt(t(n),y(n));
end

end

(E0))
clc;clear

dydt=Q (t,y)4*exp(0.8*t)-0.5*y;
[t yl=eulode (dydt, [0,9]1,2,2)
fprintf('%d $7.2f \n', [t,y]")

972.08
2893.42

(2) Runge-Kutta 4Xt
O &2 o2 HAZ FSt= Simpson 1/3 "t H|XSICEH EF 7F20 240l 2 7HE LR OK
(1+2+2+1)/622 0|77, Hatg)2 Foict g WHOME 7|27 BZ2E 0|0f

=
7l g+ A1 ot EYME DA BHHS Fols Aoz dFECH

0

AHE3H0] DS YA 2 20 EEE SICt oded45()= Runge-Kutta 4%}, 5
= M3 A (adaptative) B2 82X oHAO| SHAH BztgS 125t



clc;clear;close all

dydt=0@(t,vy)4*exp (0.8*t)-0.5*y;

[t yl=eulode(dydt, [0,9],2,2);

fprintf('%d %7.2f \n', [t,y]")

[t2 y2]=o0de45 (dydt, [0,9]1,2);
yr=@(t)40/13*exp(0.8*t)-14/13*exp (-0.5*t) ;
plot(t,y,'o',t2,y2, """, t2,yr(t2),'b"), grid on
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1z

Error=abs (yr (t2(end))-y2(end)) ./yr (t2 (end))

Error =
6.0468e-06
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Analytical solution

Linear ODE
dy

— 4 0.5y = 408t
dt+ y e

i = exp (f 0.5 t) = expi(0.5t)

Hy = 4[ ef8tndt = 4[ el3t dt

:%el.3t+c
y_ie08t+ce—05;
1.3
) 4+C . 40 14
13 B 13 13
= —1.0769
40 14
7 08t _ — " _—05t
Y=13¢ 13
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